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® 24a = 240m? @ 1300a = 1.3ha
@)skm? = 80000a @ 1.6km? = 1600a

® 47m2 =470a
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1km? = 100 ha = 10000 a = 1000000 m? ©] 22
D 24 a = 2400 m?

@ 1300a = 13 ha

@ 1.6km? = 16000 a
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@ 4.9a=490ha
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[> HE ! F0.66kg

Atk 16709 BA 113 - 0.75 = 10.55(kg)
Atk 1709] FA 1 10.55 + 16 = 0.659 - - - ( kg)
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= 140 x 150 + 2 = 10500( m?)

(A& L e r o] Ho])= 42500 — 10500 = 32000( m?)
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(A& v E) x105 + 2 = 10500 1A

(A& me)=200(m)

{( L ©)+120} x 200 + 2 = 32000 ,

(¥ LT)+120= 320 , (¥ L )= 200(m)
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> & kg

5t = 5000 kg

Atk 100 AES] FA 30 x 100 = 3000( kg)
v 50 AFAFe] T 1 5000 — 3000 = 2000( kg)
B 1 AFzke] B 1 2000 + 50 = 40( kg)
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=i kg
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12.54t = 12540kg
1a 9] 7] = 12540 + 57 = 220kg




